
Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика показателей (отрицательные
показатели)

4 + (−9) =(−1) 8 − 3 =2

6 + (−9) =(−2) (−9) + (−7) =(−1)

4 + 4 =0 10 − (−8) =2

(−5) + (−6) =2 (−6) − 3 =2

2 − (−7) =2 (−4) + 6 =2

(−4) + 7 =2 1 + 7 =2

(−6) − (−2) =(−1) (−2) − (−4) =2

6 + 10 =(−1) (−1) − (−1) =(−2)

(−4) − 6 =(−1) (−7) − 4 =2

(−8) − (−7) =2 9 − (−4) =2
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Имя: 　　　　　　　 Дата: 　　　　　　 Оценка: 　　　

Арифметика показателей (отрицательные
показатели)

4 + (−9) = (− ) = (−8 )(−1)

4
35

4
3

8 − 3 = 612

6 + (−9) = (− ) = (−8 )(−2)

36
323

36
35

(−9) + (−7) = (− ) = (−7 )(−1)

9
64

9
1

4 + 4 = 50 10 − (−8) = 1082

(−5) + (−6) = 192 (−6) − 3 = 332

2 − (−7) = 112 (−4) + 6 = 222

(−4) + 7 = 232 1 + 7 = 82

(−6) − (−2) = = 1(−1)

6
11

6
5

(−2) − (−4) = 82

6 + 10 = = 10(−1)

6
61

6
1

(−1) − (−1) = 2(−2)

(−4) − 6 = (− ) = (−6 )(−1)

4
25

4
1

(−7) − 4 = 452

(−8) − (−7) = 712 9 − (−4) = 852
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